DIALOGO

1. LTH
ABBXBREEARE T, BXSLSMmEEPX, BARAMEXTALT,
B:45FE R A G2
AR, BEMEERL.
B: AP ER 47 K = M A HE=
ARLERB AR e?
B:EREW., thiniisl, BHIERERMN.
A, BREIFAENLALEBEERRE RUZ.
BAARREMN, SRAELEMN. £2HAXE R, XRE, FEZEREEE.

AFTH, MBRE—EXE.BFT, ESXRTFEE, MR—EEF,
2. WHrEM
A: B, BRHRIRE DR
XA ? 200,
KT, BEARBEE—R?
it 2
100,
AT, 150 BT, HRE, R 150, AR, LMK,
i, ik, WEM 10K, £1HERREAET,
120, Aidtr, ERGEEMEET .. KREBIKEEEER, XERENT.
HRLFIE, AREMHN,
O, ZRERIFER T,
3
XEATAZNELE, % EABRE,
()L A WIN=C K
KEE 9 K3, DRIERZERE—,
RGP, T TR AR,
=W, T THREARER, XBR/NARE, 58 T8 RS T,
X B /N TG
B, #ETER, 0] S7EXEME, WA RE, KAREXIL
£7,
B: MW, NZEEE, REXKKMEURESRES LE/NZ, —AE, —
I
A: BRIAANREY, BRITSEEERE,
B: 48, ARkEREVRBEEAEE

W
PR FPEEPEIIEE DR R >



